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ENGLISH VERSION

Instructions :
(1) Right hand side figures indicate marks.
(2) Show calculations as a part of your answer.

1 A die is thrown 132 times with following results: 20
Numberturnedup | 1 | 2 [ 3 |4 |5 | 6
Frequency 16 |20 | 25|14 |29 | 28

Is the die unbiased? (Table value at 5% level of significance is 11.07)
OR
1  Aninsurance company provides auto insurance and is analyzing the

data obtained from fatal crashes. A sample of the motor vehicle
deaths is randomly selected for a two year period. The number of
fatalities is listed below for the different days for the week. At the
0.05 significance level, test the claim that accidents occur on

different days with equal frequency.

Day Monday | Tuesday | Wednesday | Thursday | Friday | Saturday | Sunday
Number of fatalities 31 20 20 22 22 29 36

(Table value = 12.59)

2 Analysis the following Latin Square. 20

A(-2) | BO) | C(-8)
B(18) | C2) | A(9)
C(-7) | A(6) | B(16)

F, = Fyos (2.2)=19
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2  (a) Explain the method of analysis of variance for one 10
way classification.
(b) For two-way classification table of analysis of variance 10
is as follows. Fill the blanks and then analyses.

Degrees of | Mean sum of .
Source Sum of squares F-Calculation
freedom square
Between Rows 90 9
Between columns - 4 - 6
Error - - 5
Total 390 -

F, = Fy s (9.36) =2.15 and F, = F} o5 (4.36) = 2.63

3 (a) Explain tabulation for the Primary data collection. Narrate 10
the characteristics of good table.
(b) What is Primary data? Explain characteristics of Primary data. 5
OR
3  Explain: 15
(a) Cluster Analysis
(b) Multidimensional Scaling

4 (a) Newspaper boy has the following probabilities of sellinga 15
magazine.

No. of copies of selling | 10 | 11 12 | 13 | 14
Probability 0.10 | 0.15 { 0.20 | 0.25 ] 0.30

Cost of copy is Rs. 3 and selling price is Rs. 5. He can not
return unsold copies.
How many copies should be ordered?
OR
4  For the following pay-off matrix. Find the best act using
(1) Maximin Principle (ii) Maximax Principle (iii) Laplacee
Principle and (iv) Horwich Principle [infinity = 0.7]
Act
Al TAZ [AS A4 | AS
S1 | 10 {25 |10 [ 15 |20
S2 (-5 110 [ -5 |10 ]| -5
S3 (155 |10 [10 |10

Event
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